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Two kinds of tracking

+ One person over time and sites to offer targeted ads.
Issue: tradeoff between the “right” goods and services and
high prices.

+ One person during a day to ensure that he does not see the
same advertisements too often.
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Basic idea of the model

At the start with given capacity ai .

+ If monopolist: 1− F (pi ) = Tai .

+ With competition: consumers choose site i with probability xi ,
exogenous throughout the paper.

+ Assume T = 2, with probability ρ consumers have the
possibility of “switching” between “periods”:

=⇒nb. loyal customers = xi − xi × ρ× (1− xi )

nb. switching customers = xi × ρ× xj + xj × ρ× xi = 2ρxixj .
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Solution: exogenous capacity (ai)

+ Cournot competition:

å Outlets charge P(2ai ) for access to loyal consumers
å and P(ai + aj) for access to switching consumers.

=⇒ Outlets with high ai s like high ρ.

+ (Perfect) ad tracking increases the profits of some outlets and
reduce the profits of others.
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Solution: endogenous capacity (ai)

xi s are exogenous

Very difficult to solve

Solved with uniform distribution.

+ The profits of symmetric firms (xi ' xj) are decreasing in ρ.

+ The profits of small firms are increasing in ρ.
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Imperfect and endogenous tracking

Proposition 7: Perfect tracking leads to lower profits than profit
without tracking.
“This suggests that perfect tracking technology might not be
adopted despite their ability to generate efficient outcomes in
advertising market”.Are we sure if many firms?
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One last point

+ Is the definition of efficiency appropriate when there is no
model of what are the consequences of advertising?

+ At the minimum stress that this is not social efficiency.
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